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Task Title: Calculating Gear Ratios 

OALCF Cover Sheet – Learner Copy 

Learner Name: __________________________________________    

Date Started: ___________________________________________ 

Date Completed: _________________________________________ 

Successful Completion:  Yes        No    

Task Description: The learner will calculate gear ratios based on a given 

formula. 

Main Competency/Task Group/Level Indicator:  

● Understand and Use Numbers/Use measures/C3.3 

Materials Required: 

● Pen/pencil and paper and/or digital device 

● Calculator or digital device with calculator function 

Goal Path: Employment Apprenticeship 

Secondary School Post Secondary Independence 
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Learner Information 

Millwrights and other skilled tradespeople may need to troubleshoot, repair 

and maintain gears in drive train systems and other machinery. 

Read “Gear Ratio Equation”.
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Gear Ratio Equation 

The gear wheel being turned is the driver or input gear.  The gear wheel 

being driven is the output gear. 

The gear ratio is calculated by dividing the number of teeth on a driven gear 

by the number of teeth on the driver gear. 

Gear Ratio Formula:  Teeth on Driven Gear (Output) / Teeth on Driver Gear 

(Input) 

For example: 60 teeth for the input and 30 teeth for the output is expressed 

as 30/60      

Simplify the fraction to determine the gear ratio. 

30/60 = 1/2 

The gear ratio is 1 : 2 
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Work Sheet 

Task 1: Calculate the gear ratio where the input is 75 and the output 

is 25. 

Answer:   

______________________________________________________ 

Task 2: Calculate the gear ratio where the input is 200 and the 

output is 50. 

Answer:   

______________________________________________________ 

Task 3a: Calculate the gear ratio where the input is 320 and the 

output is 20.  Calculate the gear ratio where the input is 325 and the 

output is 25. 

Answer: 

Task 3b: Which gear ratio is larger? 

Answer: 

_____________________________________________________________ 
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